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1 When various fluid particles move in Zig-Zag paths, flow is called:
(A) Laminar flow (B) Turbulent flow
(C) Uniform flow (D) None of above
a8 yarg, fred waed 99 $or Se—He wRt 8 yar@a 8 & wear &
(A) wNIg Yas (B) fAgg=r yars
(C) zuRacdt was (D) SRR H HE A8
2 The color of upper part of kllometer stone on road snde‘m cdse of state
highway is . L
(A) Green 3B) Yellow (C) Brown ; (D) Red
I HEMTET @ AR o gh fherfiey gu™ gl UeeRi @ SHust AnT
BT [T BT o :
(A) B (B) drerr ©) - (D) @IS

3 The width of broad gauge is
EISTIRIE B 0 1S R [ ¥

(A) 1576 m (B) 1676 m (C) 1.776 m D) 167 m
4 The value of ruling gradient in.plains as per Indian Road Congress is
(A) 1in10 (B) 1in15 (C) 1 in 20 D) 1 in 30
ARG Hedh HiUH & JITEAR IaHad o2 Sfeim dfSve @ 2
(A) 10 1 (B) 15 & 1 (C) 20 ¥ 1 (D) 30 H 1
5 The maximum allowable super elevation is:
(A) 1lin 12 B) 1in 18 (C) 1in 15 (D) 1in 30
ey e gur TedeH &1 "E @
(A) 12H 1 @B 18 F§ 1. (C) 15 # 1 (D) 30 #H 1
6 Manhole is generally provided at each:
(A) Bend 3aB) Junctlon
(C) Change of gradient (D) All of above
(A) = HIS W B) B SE@T W
(C) waurar # & gRad" v (D) Swdaa ¥+ ue
7 The solid content of sewage is usually: |
EFaar Wasl (@A) § SN o Y wEr 8k 8
(A) 99% (B) 80% © 15% T D 1%
8 The dissolved oxygen concentration  with the iﬁcrgase in

temperature of water.

(A) Decreases

(B) Increases

(C) Remains same

(D) Sometime: increases and sometime decreases

ST BT dOHET 9gq ¥ I9H Hige gfea it A

(A) wed 8 (B) «wed &

(C) a& wsh 2 D) TN Fedl ¥ R @ Ted ¥
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9 As per Indian standard (IS 10500: 2012) of drinking water specification,
concentration of iron in drinking water should not exceed:

AR A (IS 10500:2012) ¥ &1 gFi—fafifite & sar, 99 @& g™

#H AR B Higdl ... | arferes =&l 8FT @@
(A) 0.5 mg/L B) 0.4 mg/L
(C) 0.3 mg/L @) 0.2mg/L

10 As per National Ambient Air Quality standards, maximum permissible
concentration of NO, (24 hr. average) in ambient air in residential area is
sy aREM Ty Yurae AFe D IFER IA[ET &3 H NO, N 24
He 1 M ffrmaw AT &1 e &

(A) 100 pg/m? (B) 80 pg/m?
(C) ©60ug/m? (D) 40pg/m3

11 The breadth of rib in a T-beam should at least be equal to the depth
of rib. _
(A) one-half (B) one-third
(C) one-fourth (D) one-sixth ,
Th—El—eRA #H, Re & dreE, +9 9 &9 Re &1 =wwE o 89 =nfae—
(A) TH— 3T B) TH— e
(C) UH— =rEng (D) TH— wal

12 The tensile strength of concrete, expressed as the ratio of compressive
strength is ,
T4 "fdee, sic & wHired uftea & gura # wmaa fear oimar 2

1 1 i ‘ 1

(A) '35 B8) >0 ©) TE (D) =

13 1In a pre-stressed concrete structure
: (A) dead load of structure is reduced
(B) cracking of concrete is avoided
(C) the cost of supporting structure and foundation is reduced
(D) all of the above
WRES Hhlc B w41 o
B, ! (A) T HT A AR HH Bl ST T
4 (B) FHT H§ R I A b o B
- (C) WBRT 9 N E¥a-T Ud 19 BT oI HH B Ol 8|
D) U T

14 If O  is the stress in bar and 7T,, is the design bond stress then the
development length of a bar of diameter ¢ is given by:
aft o, Th s # uimw ® R T,, fiweu o wRied & dr oW
A ¢ B TS B BN " 36 UHR S Bef '
4 o Do, 2¢ o P o

(A) de (B) 4’tbd . (C) (D)

S

3Tpa 3T
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In the design of a two-way slab restrained at all edges torsional reinforcement
required is
(A) 0.375 times the area of steel provided in shorter span
(B) 0.375 times the area of steel provided at mid-span in the same direction
(C) 0.75 times the area of steel provided at mid-span in the same direction
(D) None of the above
WW%%W’Q—?(ﬁﬁwﬁﬁﬁ)ﬁﬁaﬁmﬁ,
Maegs gofig ggers )
(A)Eﬁémeﬁmﬁaa%aﬁamaﬂos?sw
m)w&wﬁ,m—mwmwaa%aﬁmaﬂo.wsw
(C)G@%mﬁ,ﬁa-mawmvaaaﬁaﬁwzmo.nﬂw
(D) SWIFd ¥ HIS 81

In double reinforced sections, total reinforcement percentage should not
exceed:

SR yaferd Jawrl ¥ g @ me yeers uftreraar e O
ferep =& B =fRw:

A) 4 B) 6 <) 8 (D) 10

A reinforced concrete beam, supported on columns at ends, has a cleaf span
5 m and 0.5 m effective depth. It carries a total uniformly distributed load
100 KN/m. The design shear force for the beam is

WWWWWWWWSm?ﬁWWW
06 m | eRT WR HA FARART AR 100 KN/m 8| e~ &7 SiRrpoa

HIH A =
(A) 250 KN (B) 200 KN (C) 175 KN (D) 150 KN

The term ‘Characteristic l1oad’ means that load which has a probability of not
being exceeded, during the life of structure is equal to:

TEUITHS AR W JROd SE R BT & s @i ar ke @ ofas
HOSH AR W A e @ e (SRfAfid) e
(A) 90% B) 95% (C) 99% (D) 100%

The tensile strength of concrete in flexure as per 1S:456 is:

IS:456$$§WWW(#@T)#WWWW@§@W%|
(A) 064/ @B 0.7 fck (©) o.75,/fck D) 094/,

For a slab spanning in two directions the ratio of span to the depth of slab
should not exceed
aﬁ%mﬁﬁtﬁ@rm%%@ﬁaw%ﬂﬁ(@ﬂ)wmww

= & SameT 9d @ efee
(A) 10 B) 20 (C) 35 (D) 50

EJE-2015/11_D ] 4 3 [ P.T.O.
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21 A masonry dam may fail due to-
(A) tension in the masonry of the dam and its base
(B) overturning of the dam
(C) crushing of masonry at the base of the dam
(D) any one of the above

v g g faws 81 gear &

(A) maﬁ%méqaamﬁaﬂwa%m@{
(B) €& @ Uoled 9

(C) ™1 & IR R FE & awmamr 89 3
(D) SRR H § Py W TP

22  Tension bars in a cantilever beam must be enclosed in the support up to:
(A) Lg+10d B) L,43 o 12¢ D) d
Where, d : Effective depth of beam
L4 : Development length

U HTAEaR O & X O BSl BT 95 e W Reror B9 wnf@a
(A) Lg+1od ®) L3 ©) 12¢ (D) d
S8l d o gerE TERTE GBRA @), Ly ¥ g

23 For field rivets the maximum permissible stresses in rivets and bolts as
given in codes are reduced by:

Free RISt & o RAST g dIoet # Spas srgsy ufteet o1 wfear
P IgUR fram +F fFar w1 "war &

(A) 5% (B) 10% (©) 15% D) 20%
24 Rivets are generally specified by

(A) Shape (B) Diameter of head

(C) Owverall length (D) Shank diameter

RISt @1 v frEd S 87

(A) 3IIBR A B) =1 & =g A

(©) gl o= A _ D) dF & aE |

25 The specific grévity of bitumen is
fRew @1 smuféies a9 28
(A) 1.78 B) 1.09 ) 130 (D) 0.85

26 Separation of water, sand, cement from a freshly mixed concrete is called:
(A) bleeding (B) creeping (C) segregation (D) flooding
aen AR A w@ie ¥ Sid, die], Ahie el BF Bl ded B

A) freggor B) faedor (©) gHFTHROT (D) TSI
27  Plaster of Paris is obtained by calcining:
‘ (A) Bauxite (B) Gypsum (C) Kanker (D) Limestone
el Mk uRYE fras faags 9 ura 8 ar &
(A) d9reRTIse (B) =m (C) Dbs (D) FAT-UE=R

EJE-2015/ H_D ] . 5 [ P.T.O.
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28 The plinth area rate for construction of first and third floor of the building
as per UPPWD has following relationship:
(A) Rate for first floor is higher than rate for third floor
(B) Rate for first floor is lesser than rate for third floor
(C) Both rates are same ‘
(D) None of above

ImPWDE%mjmﬁﬂ%ﬂaaaﬁanﬁaﬂ?%ﬁﬂﬁnﬁla%ﬁﬁwég
HAT &FbA I3 H e wHd g B

(A) wH #AfSTa &7 gX e ®@fora @1 gY 9 e &

B) voH AT B TR D HS A X Y HH B

(C) Wi =¥ A &

(D) SR H Hig &

29 The order of booking dimensions in standard measurement book is
(A) Length, breadth, height (B) Breadth, length, height
(C) Height, breadth, length (D) Height, length, breadth
mﬁzﬁwgﬁ?@rﬁﬁm(‘ﬂmﬁ drers, ﬁésﬂﬁ)ﬂﬁaﬂwﬁm

BT =
A) w8, Al SuE ®B) e, e, Sk
(©) <, e, i D)  Faig, <9, =S

30 For calculating the total quantity of paint on both sides of flush doors, outer
dimensions of door 'is multiplied by:

TSTY SRATST WX e @ ol g0 @ "E o e & o, sxarer @t
qEN AT F A Ton fRar wier & '
(A) 125 B) 225 ©) 1 D) 2
31 T.he size of modular brick is
ArgAR Sl BT I;MMPBR BT 2

(A) 10 x 10 x 9 cm B) 19 x9 x9cm
(C) 225 x 10 x 8.5 cm (D) 225 x8 x9cm
32 Unit of measurement of D.P.C. is
(A) cum (B) Sq.m (C) Meter D) Kg
DPC: & A @ gHis 8t |
(A) =9 #ler (B) T Hley (C) #HieN (D). fHur

33 Theodolite measures:
(A) Horizontal angle only
(B) Vertical angle only
(C) Horizontal and vertical angles
(D) Horizontal distance ,
friEese | Aar S "dhdr B .
(A) dada aferst dror (B) @adl S=aER BT
(©) aftrs1 g SEaker ®ior (D) afas gRai

EJE-2015/1_D ] 6 [P.T.O.
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(C) Void ratio graph (D) Porosity graph
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The series of closed contours having higher contour values inwards represent
(A) Flat plane (B) Valley (C) Hill (D) Lake

Uh 948 uR gl HHIed @i @1 siger ¥ gfe SeF 3rer @) 3R w¢
BT BT dr 98 <©I< 8N
(A) w#de |as (B) =TS ©) usrsr (D) sha

Alidade is used in

(A) Chain surveying (B) Leveling

(C) Plane table surveying (D) Compass surveying
eSS &1 SuanT fpar orar & '

(A) SN Hdejor #

(B) doletor #H

(C) = <Taga (=01 uyed) wderor #
D) HE Taeter H

The longest chain line passing through the centre of the survey area is
known as

(A) Base line ) (B) Tie line

(C) Check line (D) None of above

HARTOT &1 & Heg | IO alell O o« oi" IET BT =T ot &
(A) IR ET B) EHIART I@r

(©) <= @ (D) SYFd H PHig T8

The survey, in which the curvature of earth is consideréd, is called
(A) Geodetic surveying (B) Plane surveying

(C) Geographical surveying (D) Land surveying

g8 wdevl, orad gt & ey bR &1 "Eg 8, eea &
(A) YOS wderor (B) GHEdE HIRTIT

(C) Eifass  wdetor (D) —adeT

For a given degree of compaction, graph between dry unit weight of soil and
water content in soil is called
(A) Compression graph (B) Moisture- density graph

el Hea @ 9T W 9ST @ PeH SHIS AR 9 SEH el @) "5
(A) HUled a6 B) “THI—9-a dm®

(©) Raaar sgura ok (D) IIYUaT a9

The effective size of a soil is

T & YHIAY HOT I Bl 827

(A) Dy B) Dy (C) Dy (D) Dgo

Which of the fo!lowmg soils has the finest grains?

(A) Coarse sand (B) Silt

(C) Fine sand (D) Clay
frfaRaa & 9ew w89 oo few 81 &

(A) 91T 91 B) e

(C) WHEIF dig \ (D) fN gar

.15 I11_D] ‘ 7 [ P.T.O.
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A soil has 30% air voids. It has a porosity of 0.4. The air content of that soil
shall be:
TP HIT H 30% a1g W | IHS WAT 04 ¥ TH FIAT BT qAY 3Hw
BITT: ;

(A) 0.75 3@) 0.12

(C©) 1.33 D) 0.77

Due to rise in water table, the effective stress in soil:

(A) Increases (B) Decreases

(C) Does not change (D) May increase or decrease
fPfl ge1 4 S W B Fed § yar ufdEer

(A) sgdar 8 (B) ®Iedar €

(C) R P w9 F8 dgsar B(D) €@ a1 e T Fhar ¥

If void ratio is 0.67, water content = 0.188 and sp. Gravity = 2.68, the degree
of saturation of soil is:

afe Raadar 3gurd 067 &, ST @ "@ET 0.188 & 3R MRS e =
268 8 o ¥l @1 wgfta 1 ==m &

(A) 25% B) 40%
(C)y 75% (D) 60%

Rota meter is used to measure

(A) Velocity of fluid (B) ' Kinetic energy of fluid
(C) Viscosity of fluid (D) Flow of fluid

U Nerex d #YT ST & '

(A) ©9 & YaGrs T A B) Ta & Ao HolT
(C) <a & wg=ar (D) Tg BT ydE

Pressure energy of fluid can be increased by using:

(A) Turbine (B) Lump

(C) Viscometer (D) Hydraulic ram
mﬁmﬁﬁmﬁﬁmmaﬁaﬁgﬁaa’raﬁﬁ%
(A) <xErgH ®B) 9

(©) faEpEmY D) wfaw W

The ratio between inertia force and elastic force is called:

(A) Cauchy’s number (B) Mach’s aumber

(C) Weber number (D) Reynolds s number
SISl 91 Td GANRS g1 B AU BT ... BET |
(A) Rl O (B) A% W&

(C) AR =T D) Hics HE&T

As compared to roadways, maintenance cost of railways is
(A) More (B) Less

(C) Same (D) None of above
ASTHFIT @& 3TeT AT AT @1 IEREOT AT

(A) s 3 B) FH9 B

(C) |HHE B D) SuwRFa H§ wE A8

EJE-2015 / B_D ] & [ P.T.O.
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The highest point on a carriage way is known as:

(A) Camber (B) Crown
(C) Super elevation (D) Gradient
AN AT & IR UR Jeaad g wwarar &
(A) TF==x - (B) HmrSH
(C) YR qoaeH (D) AfsT=

Number of fish bolts per fish plate joining rails are-

X Sl W gSA A BRI B oier oiar @ e sirer fhw wiel sir
.................... fowr dcer ||

A 2 B) 4

© o6 o) 8

For a sewer line of 50 cm diameter, the spacing of manhole along straight
run would be approximately.

TP 50 cm GIE bl HarR g4 @ e, d986 51 d<=— B 957 T

0 BF =nfag |
(A) 10 m B) 100 m
(C) 500 m (D) 1000 m

Cowl is provided at:

(A) bottom portion of ventilating column
(B) top portion of ventilating column
(C) top portion of manhole

(D) at sewer joint

o faar sar & .
(A) Afcafenr wHem & fFraa B8R W
(B) afcafdt weom @ Sudl 8RR W
(©) #9819 & Fud BR WY

(D) ¥R Ul & Sl ox

To control vehicular pollution from exhaust of vehicles, following is fitted:
(A) Electrostatic precipitator (B) Catalytic converter

(C) Bag filter (D) Cyclone separator
mwﬁﬁ%&mﬁ%ﬁﬁmﬁ%ﬂvﬁw(@@w)ﬁﬁw
ST ST &

(A) Rer qga adftm (soasT Rfes afifeeR)

B) AP yRads (Berfafes Fadz)

(©) T fheexr

(D) 9HgFTE HUeR (Imad gifes)

As per Indian standard (IS 10500: 2012) of dnnkmg water specification, pH
value should be in range of : ;

WA A6 (IS 10500:2012) 4R &7 ar— fafiRe & s/gaR pH &1 #14
s e & 8 oenfad

(A) 6.5-8.0 (B) 6.5-8.5

(C) 6.0-85 o) 70

EJE-2015 / 11D ] 9 [ P.T.O.
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54 Sewerage system starts from

(A) House sewers (B) lateral sewers
(C) Branch sewers (D) main Sewers

WaRST 9oTiedt 3% s8Rt &

(A) B HE=Ri | - B) uUrd &R A
(C) Tar AaRi Jq D) = Waw |

55 The effective length of a steel column, effectively held in position and
restrained against rotation at both ends is:
(A) 080L @) 10L
(C) 065L ®) OSL
Where L: length of column
Uh T T DI yHrEr oierd, o gad Refr # war war 8 3R saa
T PR @1 golm @ AAfRa far war @
(A) 080 L (B) 10L
(C) 065L D) osL
oiEl L : ww &7 dere @
S6 The member of roof truss which supports the purlins is called as:

(A) Sag rod (B) Main strut

(C) Principal Rafter (D) Principal Tie

B9 HdOl HT 98 fBwar o ofeH &1 9sRT Qa1 & wesdnr &
(A) HIeREN BS B THE FuFH

(C) YHE UR® (D) HFEu HNSET (@)

57 As per Indian standard specifications, concrete should be cured under a
humidity of
TR " faRiftcal & 3R, swie 1 fpa ardar (@) F aE
(A) 10% B) 50%
(C) 75% D) 90%

58 In a singly reinforced beam, if the permissible stress in concrete reaches
earlier than the permissible stress in steel, the beam section is called:
(A) Under reinforced section (B) Over reinforced section
(C) Balanced section (D) Economic section -
Tpel BU 9§ yaferd s A afe sohic 3 wor ultee s @& e
uferget ¥ ugel ugw oiar & A1 99 Ss uR=ww (wie) B wed '
(A) = wfade ufRese ®) wfy ufwe aReos
(C) wgfera uRese O) fagedl aR=se

$9 For the deflection of simply supported beam of 8 m span to be within
permissible limits, the ratio of its span to effective depth should not exceed
8 #ier foxgfa @ gaeiRa o= @1 QA8 arm= SRl @ aiefa @
% fora fasgfay &1 vy TR & |y a9 3 = E 8

=ifa:
(A) 7 B) 20
(C) 206 (D) 8

EME2015/ 11D ] 10 - LPT.O.
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Shrinkage in concrete slab :
(A) Causes sheer cracks (B) Causes tension cracks
(C) Causes compression cracks (D) Does not cause any cracking

e g H fgmesa 9 o1 811 8

(A) T TR B) T XN

() <wHirs9 &R D) PIEF XN 81

In order to avoid sliding of masonry dam, the force of friction between the
dam and soil should be at least the total water pressure per meter
length.

(A) Equal to S - (B) 1.5 times

(C) Double (D) 2.5 times

fos s iy &1 Yue (RensfE) O swa @ forg, @iy 9 fAedl & go= sa
BH W HH ST @Y Uh HAiex #§ ugad @ 9 || @
(A) SIS (B) 15 AT
(© s | ®») 25 7

' The diameter of longitudinal reinforcement bars of a RCC column should

never be less than:

IR, T F A ST BT & B A J HH T8 EFT
=fE | |

(A) 6 mm (B) 8 mm

(C) 10 mm (D) 12 mm

A reinforced cement concrete beam can have maximum area of tension
reinforcement as ' :

(A) 0.06bD (B) 0.02bD

(C) 0.05bD (D) 0.04bD

Where D = overall depth of beam

b = Breadth of beam

wuﬁﬁ@ﬁammﬂﬁwmﬂmmﬁqmﬁ
Hpar B ,

(A) 0.06bD ) ‘ (B) 0.02 bD

(C) 0.05 bD (D) 0.04 bD

GiEaf D = eR9 &1 |A TS, b = oA B drss

The minimum size of one side or diameter of column in reinforced cement

concrete structure to make it earthquake resistant should not be less than:

gafera A¥c @dhlc &1 qHuEl S99 & o w9 a7 e R

ateqar ogre fAEfefRaa @ wa |98 891 =nfad:

(A) 200 mm (B) 250 mm
(C) 300 mm D) 350 mm

EJE-2015 / 1I_D ] 11 [ PT.O.
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65 The spacing between two successive stirrups (hoops) in reinforced cement
concrete beam shall not be less than:

Wﬁﬁ@ﬁeaﬁﬁf%ﬁﬂwﬁa%ﬁ(ﬁ%?ﬁ)ﬁﬁﬁﬂ%@
............. | TmH A8 B =nfad ‘

(A) 100 mm (B) 125 mm

(C) 150 mm D) 175 mm

66 The concentration of organic solids in water to be used in reinforced cement
' concrete contraction should not be more than:

yafea e dmic HEt # Suan § a9 9 9F) 3 SR Sl

B OHETT oo, 9 aferes =8 SR afed:
(A) 50 mg/L (B) 100 mg/L
(C) 150 mg/L (D) 200 mg/L

67  According to Whitney’s theory, ultimate strain of concrete is assumed to be
BIeHd & fEEFIgER, BWic BT ISWe (TRH) W9 "E R Sier &
(A) 0.03% | @) 0.1%
(C) 0.3% D) 1%

68 As per IS 456-2000, formula for calculation modular ratio is- ‘
IS 456—2000 & IFHAR HUIPH FIIUIT T BIA BT G B

280 2800

LA 30'ch ®) 3dcb_c
© Debe (D) =
280 Gebe

69  As per IS 456-2000 thickness of flat slab should not be less than
IS 456—2000 @ IGHAR, AUS] A & HAerEs Fr=ifead A »a == =9
HIfay—

(A) 15 cm ‘ (B) 12.5 cm
(C) 10 cm (D) 85 cm

70 In design of cinema hall width of Tread is taken as-
(A) 25 to 30 cm (B) 30 to 50 cm
(C) 50 to 75 cm (D) 90 to 110 cm
R s siffes & ue &1 de @ ol 8-
(A) 25 ¥ 30 &9 . (B) 30 ¥ 50 oA
(C) s0 & 75 ¥ (D) 90 A 110 I

EASEPS /B D ) 12 [ P.T.O.



www.allexamdost.com

e ©haft / CIVIL ENGINEERING
Due to end of circulation of shape or design of property is known as
(A) Uncirculation (B) Distress value
(C) Salvage value ' (D) Scrap value
Wwﬁﬁaﬁm@%m%ﬁmﬁmzﬁwwwa‘rm
.................... HEATIAT B
(A) srrereT B) ¥wwe Heu (Distress value)
©) TuS Teu @) worErT oo
Im Building construction, for one time surcharge for Electricity and water is
sdded for the cost of % total cost of building.
mﬁﬁwﬁﬁgaaﬂ*wwa%mwaﬂamﬁwm
e % SVST OITET R
(A) 12% B) 10%
(C) 8% D) 5%
In masonry works, while dommg “Rate Analysis’; water-surcharge is taken as
X faediyor HRa wAa oo @t 8 ol S ouae % HF ST
Hepa &
(A) 10% ‘ M) 5%
©) 3% . (D) 1.5%

74  If the fore bearing of a ne AB is 35° and that of line BC 15°, then the
: included angle between the hmes is .
af& v ¥ AB @1 3w ReIF 38° ® 3R wiilgd BC &1 sigfaeee
16°, I g1 & =0 &1 WARS D01 B8FTT

(A) 20° : @) 50°
(C) 160° (D) 230°
75  As applied to staff readings the correction for curvature and refraction are
respectively
(A) + and — (B) — and +
(C) + and + (D) - and —
SHET 6 ot uteEie F wErr R war 8, amar g9 Rbvder @ wuiN
HHL B
(A) + 3R — B) — 3R +
(©) + 3R + ®»® — IR —

76  The suitable contour interval for a map with scale 1:10,000 is

P Aot uv 1110000 B I YR TE=E V@7 IFERTA BN

(A) 2m B) 5m
(C) 10m (D) 20 m
77 Least count of ‘Prismatic compass’ is
fOsH e &1 srcuaHie igar dgaH D Bl 8
(A 17 @) 15°
(C) 30’ (D) 457

EJE-2015 / IILD ] 13 [ P-T.O.
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78 Minimum Angle between axis of weir and canal head regulator is

ffaR g d Fa=as B s d a9 IEes P BET. =AY |
(A) ©0° B) 90° ‘
(C) 60° D) 120°
79 A Canal constructed normal to contour lines of area is called
(A) Contour - canal (B) Watershed- canal
(C) Side slope canal (D) Single Bank canal
&g P HHrEd @ D P e E T "9EY PHEARN B |
(A) HHr=™m 87 (B) UTEIRT 8%
(C) el @Td A8 (D) UY®ds de AR
80 Hydro science (Hydrology) cycle is denoted by equation
S s 3w FNHIOT ERT QAT ST 8
(A) P=E+R (B) P=E-R
(C) P=ER (D) P=E/R
81 The height of Tsunami’s wave depends upon
(A) Monography (B) Seismography
- (C) Local Topography (D) None of above
g aelt B S w ik wn &
(A) #HFHTTH B) R :
(C) I ST D) sHH | DIs A8
82 “‘Tower’ is méde ! '
(A) For floating bridges. (B) For swing bridges.
(C) For archery girder bridges (D) For dot bridges.
= - S IR IR B | :
(A) = gat & feg B) s ger & ferg

©) =gy TR ga B v (D) s g B Rl

83 Penetration test on bitumen is used for determining its:

(A) Grade (B) Viscosity
(C) Ductility ' (D) Temperature susceptibility
fagHa ux ﬁaﬁqﬁﬁm‘ﬁ?mm% s‘ﬂaﬁﬁlﬁnﬁmﬁaﬂaﬁ(ﬁa’rﬁ*ﬁ)
I BY:
A) ol (affavon) (B) TgFCT
(©) =« (D) dTusH—guIfdar
84 Slope of village roads should be usually less than
g B WSHT W U BT H ®HH BRI B
(A 1in 12 B) 1in 10
(€©) 1in4 @) 1in3

EJE-2015 / II_D ] 14 [ P.T.O.
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The Thickness of ‘Domer’ laid (Roads)- layer in ‘Bitumen’ Roads is-
(A) 5to 10 cm (B) 2to3 cm
(C) 1to2cm (D) 05to 1.0 cm
g wsal ¥ s Ao uwrg & wed Bl 2|
(A) 5 § 10 o . (B) 2 ¥ 3 oW
C 1 9 2 9N D) 05 ¥ 10 TN

One degree of curve is equivalent to
TP e BT 9% )R BIAT &

1600 :

A — S ®
1750

© — (D)

Where R is radius of curve in meter.

Siefdh: ‘R fex # g% @7 o &

Bottom most layer of Pavement is known as-

(A) Wearing course (B) Base course
(C) Sub- base course (D) Sub grade
JeeErt T waR sEraell (udl) wsr onar &

(A)  dafm (B) IR F
©) IU—3MER B (D) U

The specific gravity of Sewage is-

(A) Much greater than 1 B)
(C) Equalto 1l (D)
WSt w1 faftre Tee glar 8
(A) 1 9§ 957 e (B)
©) 1 & {RER (D)
Standard B.O.D. is measured at
(A) 20°C - 1 day (B)
(C) 20°C — 5 day (D)
HES §L O30 SN @ "o =51 82—
(A 20°C —1 fe= ' - (B)
(C©) 20°C —s5 fa=H (D)

Slightly less than 1
Slightly greater than 1

1 9§ AUIST HH
1 9 ST 3P

25°C - 3 day
30°C — 5 day

25°C —3 fa=
30°C —-s fEH

In sewer line, at 12 o’clock of day, flow is approximately

average glow.

(A) Half : (B) Equal

(C) Two - times - (D) Three - times

WaR orsd # 9 & 12 991 @ T gae, aiEd gdiE @
BT & '

(A) 3T B) HH

(©) =1 AT (D) <= T

EJES2015 / 1_D ] 15

of

[ P-TO.



91

92

93

94

95

96

www.allexamdost.com
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Moment of Inertia of circular area having diameter ‘D’ about the axis is
passing through the center of gravity.
fFH D = & gEPR SFABS BT YHed dw W B gl 3@l W
STSCT TUT 8NT—

n - D* - D4
A
(A) 35 (B) T

n-D* x - D*
C D
© 64 (D) 12
The group of forces, whose resultant is Zero, is called
(A) Equilibrium force (B) Coplanar force
(C) Collinear force (D) Concurrent, force
o 9o @ de BT gRem a8 g B T8 HEATT B |
(A) ATl gl (B) HATSa 9
(C) IRE 9al (D) S 9

Two equal and opposite direction forces ‘f” acting, and then value resulting
force will be-

aﬁwaw&ﬁmﬁaﬂﬁaﬂﬁmﬁ(ﬂa%qﬁmﬁwmﬂﬁ
BITT—

(A) 1.414 f @) 2f

(C) Zero /X 7— (D) 0.707 f

The moisture content in a well seasoned timber is-

(A) Zero B) 5to 10%

(C) 10 to 12% D) 15 to 25%

sl UPR UBE T whd ¥ ot @ AR e 8-
A) @ B) 5 | 10%

(C) 10 ¥ 12% D) 15 | 25%

As per IS 269- 1975 initial setting time of ordinary cement is-
(A) 15 minute (B) 30 minute

(C) 60 minute (D) 75 minute

IS 269— 1975%3173;@1?%&01%@?1?&4?5@@?%%—
A) 15 B\ (B) 30 fe -

(C) &0 fa=e (D) 75 e

When the plastic limit of a soil is greater than the liquid limit, then the

plasticity index is reported as: '

(A) Negative (B) Zero

(C) Non — Plastic (NP) ®» 1
ﬂmzﬁwﬁmwﬁﬁﬁmﬁmﬁzﬁs’r q gucd gaAsid

-s‘ra‘r &

(A) FUTHD ®) T
(C) 3rgEey - O) TH

EJE-2016 / W_D ] 16 [ PT.O.
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The minimum depth of foundation in clayey soils is
gRieER geril § Al & JEas TEes Sk 2
(A) 05 m B) 0.7 m
(C) 09 m (D) 120 m

Putty is made up of

(A) White lead and turpentine

(B) Powdered chalk and raw linseed oil

(C ) Red lead and linseed oil

(D) Zinc oxide and boikdd lnseed il

g;a—é’r FNa & o 2—

(A) W W @ ardF & A @

(B) qa*f Wfsar vd men AW BT A A
<) ‘ﬁ]w Ud o @ Ad W

D) dfemgs va SaEm FAW =1 a9

The sloped roof which is sloped m four sides is called as:
~ {(A) Shed roof (B) Gable roof
(C) Hip roof {D) Mansard roof
(A) oS (shed) ©a
B) f3eida Ba (gable rool)
(C) YcoaR a1 ol 8 (Hap roof)
- (D) g@lsd Bd (Mansard roof)
The slump test for finding out the workability in concrete the maximum size
of aggregate should not exceed
(A) More than 20 mm (B) More than 38 mm
(C) More than 40 mm (D) More than 53 mm
Fwlc H Fghrdar & g g oo ¥ A @1 siffean "9 S8
BT afag—
(A) 20 mm 9§ 34 (B) 38 mm 9 31ferp
(C) 40 mm 9 3w (D) 53 mm 9 31¥®

101 The most familiar form of Bernoulli’s equation is-

AT FHNFHIOT pl waw dd yafera vy S—

P B R 177
(A) —~—+Zl+ ===+ Z, + —=
w 2g B 5 ag
d,
(B) —:—+g dz4+v-dv=0

P 12 |
(©) [—u? +Z+ EEJ any section = constant head / f&¥) &1¢ v = e fand

(D) None of these / 598 ¥ &IE &)
EJE-2015/ 1I_D } 17 [ P.T.O.
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102 A rectangular beam of length ‘L’ supported at its two ends carries a central
point load ‘W’. The maximum deflection occurred
(A) at the ends
(B) at L/3 from both ends
(C) at the center
(D) None of above

U IMAAIHR ERA &1 'L’ a9 RRT av sreiffaa 8, oftaa g ar
‘W' g8 Hell 2| ifSrpad faga 8rm

(A) RRT w®

@) @ RRT & L/3 @& €1 =R

(C) o= #H

(D) S # q PIg A8

103 If, the diameter of rivet is 25 mm or less; diameter of rivet hole will be
than the diameter rivet.

(A) more than 1.5 mm (B) less than 1.5 mm
(C) more than 2.0 mm (D) Equal
Rae &1 = 25 A, mwﬁm@ﬁwﬁﬂafﬁamm%
D N o BIRIT|
(A) 15 iy & afds @) 15 A & &9
(C) 20 1 9 aifg® (D) w9 H
104 1In general the depth of Plate girder is kept as of span.
(A) 1/5t0 1/8 (B) 1/8 to 1/10
(C) 1/10 to 1/12 D) 1/12 to 1/16

HEGAT, @I TSY & MERE AT Hdals b ORN 8 Ul &1 g &1
(A) 1/5 ¥ 1/8 B) 1/8 ¥ 1/10
(C) 1/10 | 1/12 D) 1/12 | 1/16
105 Tensile strength of mild steel is-
(A) 1400 to 1800 kg/cm?
(B) 1800 to 2500 kg/cm?

(C) 4200 to 5400 kg/cm?

(D) 5500 to 5700 kg/cm?

g s @ a9 a@med Bl B

(A) 1400 ¥ 1800 f&um /w2

B) 1800 ¥ 2500 fFHur /P2 /
(C) 4200 9 5400 fFHur /w2

(D) 5500 ¥ s700 f&Hur /IR

EJE-20M5 /B _D ] - 18 [ P.T.O.
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Weight of one bag of cement is:

QF T YHE HT goE BT B

(A) 70kg (B) 50kg

(C) 60kg (D) 65kg

Los Angles machine is used to test aggregate

(A) Crushing strength _ (B) Impact value

(C) Abrasion resistance (D) Water absorption

e dftela e &1 warT ey @ gdeor & o
fFar smar &

(A) deo Amed @+ forg B) Yuce 71 @ o

(C) 3uemur yiRREr & o (D) SId sraemur &

The insoluble residue in cement should be
(A) Between 20% to 25%

(B) Less than 20%

(C) Between 10% to 20%

(D) Less than 1.5%

e H rgaeiia srady 891 =nfag
(A) 20% 9§ 25% & €=

(B) 20% ¥ &H

(C) 10% ¥ 20% B 9™

D) 15% & &F

For checking the length of bricks as per Indian standards how many bricks
are to be taken:

ST Fifad:

(A) 10 : B) 15

(C) 20 | D) 25°

In analysis of rates, contractor profit is taken at the rate of
Y faeciour SR §HF SHAR BT & HET Ol GHdar 2
(A) 1% B) 5%

(C) 10% (D) 20%

Thickness of plastering is usually:

HHEFTIT WRex & AlcS 8l &

(A) 6 mm B) 12 mm

(C) 25 mm (D) 40 mm

No deduction is made while plaster measurement in case of small openings
upto _ . .
TSR &I 918 B FHAI ., | BIC Bel/gIE /G oiTEl uR
BIg Pkl T8l B T F |

(A) 0.1 sq.m /(B‘)‘ 0.3 sq.m

(C) 0.5 sqm (D) 0.7 sqm

EJE-2015 / 1I_D ] ' 19 [ P.T.O.
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113 Principle of surveying followed to prevent accumulation of errors is:

(A) To work from whole to part
(B) To work from part to whole
(C) Both (A) & (B)
(D) none of above
wod Ffedt B Vs &g wdEvT BT e g &
(A) EgoT 9FT § (i AFT @1 R AIEIOT HIAT
(B) 3iffrs AFT A HYUT HART @I 3R HATUT BHIAT
(C) THI (A) e (B)
(D) SuREGd H B3 A8

114 As per Indian standard, the length of one link in 30m chain is

Wm,soﬁaaﬁaa%wﬁaﬁmm
(A) 30 cm B) 20 cm
(C) 40 cm (D) 10 cm

115 If reduced bearing of a line is N 87°W, its whole circle bearing will be:
afs fFd YEr &1 wEra fAwsa= N 87°W 8, T sda1 gl go faae=
BRTT

(A) 87° ‘, (B) 93°
(C) 3¢ (D) 267°
116 In a plane table survey, the plotting of inaccessible points can be conveniently
done by
(A) Method of resection (B) Method of radiation
(C) Method of traversing (D) Method of intersection

o fagelt & g8 =9 Cga (R yed) W | A9l w9d A9 8l
@ﬁﬁaﬁiﬁﬁmﬁm@?ﬁﬂ@?éﬁaﬂﬁﬂwiﬁﬁﬁﬁm
| fear o woar &

A) Refa faeiRor fafer B) fafeor fafer
(©) gzl f[afer (D) wforese fafr

117 Line joining points of equal elevations on earth surface is called
(A) Contour surface (B) Contour gradient
(C) Contour line (D) All of above
W%Wmmfﬂﬁaﬁaﬁﬁmﬁaﬁﬂwm%
(A) < HaE (B) &< Ufsu=<
(C) DX =g (D) SuE

118 If angle of internal friction of soil is 300 coefficient of active earth pressure
will be:
aﬁwwﬂaﬁma&m%ﬁﬂsaoﬁ?ﬁﬂm(ﬁ%@ﬁ—mw
8T :
(A) 172 B) 1/3
(C) 14 D) 2/3

EJE-2015/0_D] 20 [ P.T.O.
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fafa fifafitn / CIVIL ENGINEERING
The angle of internal friction ¢ for cohesive soils is equal to
HEIE gaT # alRes ugur Hor ¢ B
(A) o0° @) 30°
(C) 45° D) 15°

Plasticity index of soil is equal to

(A) Liquid limit- Plastic limit (B) Liquid limit- Elastic limit

(C) Elastic limit- Plastic limit (D) Elastic limit- Consistency limit
el &1 gucd Yadbie BT B

(A) wa qu—guca Emr B) ©d WH— ygRel 9HEr

(C) vaer ¥H— guca W (D) UarRer A— gu=dar Eer

Coefficient of uniformity is

HHEAT YOS B
@ 2 ® 22
DBO DIO
Dy,
©) Dy, (D) None of above / SWRIaad # H1E 98}

The maximum size of clay particle is
(A) 0.1 mm {B) 0.03 mm
(C) 0.002 mm (D) 0.0002 mm

If salt is added in water, the surface tension of water will:

(A) Increase (B) Decrease

(C) Will not change _ (D) None of the above
gl § 9 Hiem 4R 9Fl BT g aera:

(A) s B) =2 :

(©) 3smafRafda wgar O Sudawm ¥ ¥ B T8

When metacenter and center of gravity of any floating body coincide, the
floating body will be:

(A) In Stable equilibrium (B) In Unstable equilibrium

(C) In Neutral Equilibrium (D) in Real equilibrium

SI9 Uh g fis &1 Soea dw gHPD Tohed B U BIGT &, 99 oG
(A) R EHgea A B) Rer wge A

(C) JER9 HgeT # D) afds dges i

Flow in a pipe is laminar if the Reynolds’s number is

(A) Less than 2000 (B) Between 2000 and 4000

(C) Between 4000 and 6000 (D) Equal to 10000

Uz H wI yaw @ o W\ies W& B8 =ifed:
(A) 2000 ¥ &HH (B) 2000 A 4000 & =
(C) 4000 ¥ 6000 & A= (D) 10000
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